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1. =FhARPHERMANBARLEHRFENE (BEEREN 20V, BREREA 200mA)
BE(V) -4 -3 -2 -1 0 0.3 0.6 0.9 1.2 15 1.8
BR(mA) | &% | 0 0 0 0 0 0 0 0 0.1 0.2 0.4
ZEE|-01 |-01 |O 0 0 0 0.1 0.1 0.3 0.6 1.4
E@EFE|-08 |-05 |[-02 |[-01 |O 0 0.1 0.1 0.2 0.3 0.4
2 2.1 2.2 2.3 2.4 2.5 2.6 2.7 2.8 2.9 3
0.7 0.9 1.3 1.9 3 4.6 74 12.5 22.2 38 67.8
2.4 33 45 6.2 8.6 12.2 17.3 24.8 37.8 57.1 90.3
0.6 0.6 0.7 0.8 0.9 1 1.1 1.2 1.6 2.3 3.4
*1
2. =ThRPHEEER M B ESMEMERBIGRT XA (BEEREA 20V, HREEA 200mA)
EE B (cm) 30 35 40 45 50
HINZE(mW) 3.922 2.932 2.294 1.86 1.546
FEER(W/MA2) 196.1 146.6 114.7 93 77.3
PR FFEEEEE (V) 2.77 2.72 2.68 2.64 2.61
FEEEER(MA) 26.6 19.5 15 12.1 10.1
EQ L FFE&ER R (V) 2.67 2.58 251 2.44 2.39
5FEEEIR(MA) 26.3 19.2 14.9 12 9.9
@ FFEREE(V) 2.83 2.77 2.69 2.61 2.49
FZESEIR(MA) 3.1 2.2 1.7 1.4 1.1
=2
3. =M APHREER A LS HENE (BEERE N 20V, BREEA 200mA)
R BHEBEV) 0 0.2 0.4 0.6 0.8 1
L ER 26.6 26.7 26.9 26.8 26.5 26.3
(mA)
H H ThR 0 5.3 10.8 16.1 21.2 26.3
(mW)
4L HIHHEEV) 0 0.2 0.4 0.6 0.8 1
R 26.4 26.5 26.4 26.5 26.5 26.3
(mA)
B DI 0 5.3 10.6 15.9 21.2 26.3
(mW)
@ HWHBEV) 0 0.2 0.4 0.6 0.8 1
B ER 31 3 3 2.9 2.9 2.8
(mA)
BT 0 0.6 1.2 1.7 2.3 2.8
(mW)




1.2 14 1.6 1.8 2 2.2 24 2.6
26.2 26.1 25.9 26.2 25.9 25 21.7 119
314 36.5 414 47.2 51.8 55 52.1 30.9
1.2 14 1.6 1.8 2 2.2 24
264 26.2 25.8 24.2 224 19 121
31.7 36.7 41.3 43.6 44.8 41.8 29
1.2 14 16 1.8 2 2.2 24 2.6
2.7 2.6 2.5 24 2.2 2 1.7 11
3.2 3.6 4 4.3 4.4 4.4 4.1 2.9
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